1094. Kyiinaarn KsaapHKa TeHrJaMaJapHHH KaHOHHK
xfrpguumra KeJTHPUO, YHHHT TYPHHH aHHKJAHT:
, Ja:

1) 5x? — dxyxy + 203 + 2%, + dx,— 7 = 0;
2) x}—6x1xy + x2 46, —2¢,+ 1 =0;

3) x} — 8x,x; + 742 + 6x, — 6x, + 9= 0;

4) x7 — 6x,x, + 942 + 10x, + 70x, = 0;

5) 4x? + 4x,X, -+ x2 — 20x, — 10x, + 5 = 0,

E, na:

1) x3 — x2 4+ 4xyx, -+ 4x,63 — 63, — 12x, + 18 = 0;

2) &+ 40— — Ay + 26 — Ay + 1 = 0;

3) 3x2 4 12x, — 3x, + 5%, + 2 = 0;

4) x1x3—x;,=0;

9) x} —8xyx, + 7x2 + 6x, — 6x, + 9= 0;

6) X2+ 2xyx, + 4xyx5 + 2050, — 4xy — 2%, = 0;

7) xlz ofe x§ S 4x§ — 22X X5 + 4XyXg — 4"2"3-4 36x; + 36 = 0



